Rational Variable Expressions Review

Simplify the following (state all restrictions on the variables!):
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Simplify the following (state all restrictions on the variables!):
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Simplify the following (state all restrictions on the variables!):
7_3,4 3x+2 _ 5x+1 3X _ X, 5x 1,1,1
A X Txtx D G+) T (xr) 9 273%6 D 223 "2a
3_2.5 k=7 _k+2 2a+3_5a-4 X+2,2x-5
® &m am " em D 7375 9 5 6 N T3
58-9_3a+l 2_3.8 2 _m-3,n-2 _1
I) 6a ga j) X xz + x3 k) mz mn + nz I) 4 X + X
Simplify the following (state all restrictions on the variables!):
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